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�D4=<FO >ED4==OE 7>= EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=,
D4E?>?>65==OE 6 �<?L=<=E>>< <G=<F<?4?L=>< >>DG75 �<657>D>4E>>=

>5?4EF<

1. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: %5FL 747>D4E?D545?5=<O
=<7>>7> 446?5=<O > 6<?O< 4><4< ?> G?<F5 �5?5=4O, E. �54O=4, �<?L=<=E><=
D4=>= (152-21-102-003191), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
>444EFD>6O= =><5D: 52:46:0130005:2371

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

�<657>D>4E>4O >5?., <.>. �<?L=<=E><=,
E. �54O=4

2. �?>M44L >ED4==>= 7>=O, >6.< 3107

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%�-52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 436882.91 2353517.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 436880.20 2353516.02
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 436877.60 2353514.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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4 436885.01 2353495.84
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 436889.65 2353477.70
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 436891.96 2353468.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 436883.46 2353466.54
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8 436826.68 2353467.88
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 436735.72 2353471.08
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 436668.43 2353472.79
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 436642.73 2353472.55
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 436632.43 2353470.61
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 436598.84 2353466.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 436553.27 2353458.88
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15 436461.87 2353451.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

16 436429.50 2353451.84
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

17 436381.07 2353450.14
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

18 436360.03 2353446.33
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

19 436347.72 2353441.15
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

20 436349.20 2353437.10
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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21 436314.13 2353422.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

22 436315.68 2353418.66
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

23 436354.26 2353434.90
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

24 436352.78 2353438.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

25 436361.17 2353442.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

26 436381.49 2353446.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

27 436429.58 2353447.84
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

28 436462.03 2353447.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

29 436553.77 2353454.90
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

30 436599.40 2353462.91
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

31 436633.03 2353466.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

32 436643.13 2353468.55
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

33 436668.39 2353468.79
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

34 436735.60 2353467.08
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

35 436826.56 2353463.88
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

36 436883.88 2353462.52
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

37 436892.94 2353464.63
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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38 436914.20 2353381.13
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

39 436918.79 2353349.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

40 436919.11 2353347.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

41 436922.27 2353348.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

42 436928.15 2353350.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

43 436927.06 2353353.90
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

44 436922.42 2353352.59
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

45 436918.12 2353381.91
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

46 436896.34 2353467.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

47 436894.09 2353476.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

48 436900.85 2353476.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

49 436900.79 2353480.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

50 436893.08 2353480.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

51 436888.83 2353497.06
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

52 436882.69 2353512.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

53 436884.62 2353513.69
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 436882.91 2353517.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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2. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?., �<?L=<=E><= D-=, 4. /7>4=>5, G?.
%>65FE>4O, 4. 143 (�-6-0088%/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:46:0040008:921

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

�<657>D>4E>4O >5?., <.>. �<?L=<=E><=,
4. /7>4=>5

2. �?>M44L >ED4==>= 7>=O, >6.< 37

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%�-52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 461951.85 2334893.32
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 461955.69 2334892.20
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 461956.60 2334895.32
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 461958.57 2334900.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 461954.80 2334902.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 461952.80 2334896.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-



6

1 461951.85 2334893.32
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: %5FL 747>D4E?D545?5=<O
=<7>>7> 446?5=<O > 6<?O< 4><4< ?> G?. �><<G=<EF<G5E>4O, E. /7O>>6>,
�<?L=<=E><= D4=>= (152-21-102-003215), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:46:0160005:1151

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

�<657>D>4E>4O >5?., <.>. �<?L=<=E><=,
E. /7O>>6>

2. �?>M44L >ED4==>= 7>=O, >6.< 5892

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%�-52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 429528.64 2359213.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 429529.58 2359216.03
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 429531.44 2359215.40
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 429539.26 2359212.36
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 429540.71 2359216.09
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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6 429532.80 2359219.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 429530.88 2359219.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8 429548.98 2359272.62
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 429554.62 2359288.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 429565.77 2359313.71
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 429593.07 2359380.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 429604.76 2359407.85
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 429609.67 2359418.75
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 429626.17 2359452.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15 429639.19 2359484.02
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

16 429651.84 2359520.11
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

17 429657.41 2359534.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

18 429659.39 2359533.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

19 429663.10 2359532.24
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

20 429664.66 2359535.92
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

21 429660.71 2359537.59
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

22 429658.90 2359538.09
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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23 429665.51 2359554.53
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

24 429671.29 2359562.15
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

25 429692.70 2359638.07
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

26 429691.43 2359648.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

27 429691.91 2359655.54
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

28 429697.42 2359672.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

29 429704.07 2359670.84
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

30 429705.11 2359674.70
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

31 429698.76 2359676.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

32 429708.49 2359701.64
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

33 429717.37 2359741.21
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

34 429723.89 2359750.89
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

35 429728.68 2359785.25
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

36 429718.48 2359787.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

37 429724.45 2359809.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

38 429727.20 2359819.41
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

39 429730.90 2359835.15
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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40 429741.46 2359832.33
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

41 429748.17 2359856.53
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

42 429751.78 2359867.00
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

43 429762.51 2359940.64
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

44 429767.92 2359980.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

45 429766.97 2360013.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

46 429780.27 2360091.29
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

47 429787.11 2360125.59
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

48 429779.08 2360128.03
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

49 429775.37 2360155.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

50 429776.26 2360175.48
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

51 429787.02 2360220.09
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

52 429791.96 2360248.60
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

53 429797.93 2360247.31
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

54 429807.12 2360287.72
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

55 429816.77 2360325.69
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

56 429824.19 2360360.26
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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57 429834.36 2360403.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

58 429843.25 2360436.48
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

59 429836.63 2360438.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

60 429837.41 2360441.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

61 429837.94 2360447.49
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

62 429840.28 2360453.53
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

63 429857.57 2360539.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

64 429873.42 2360535.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

65 429874.39 2360535.07
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

66 429873.30 2360530.25
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

67 429877.20 2360529.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

68 429879.17 2360538.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

69 429874.38 2360539.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

70 429854.49 2360544.29
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

71 429836.42 2360454.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

72 429834.00 2360448.41
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

73 429833.45 2360442.29
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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74 429831.85 2360435.61
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

75 429838.37 2360433.72
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

76 429830.48 2360404.40
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

77 429820.29 2360361.14
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

78 429812.87 2360326.61
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

79 429803.24 2360288.66
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

80 429794.91 2360252.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

81 429788.74 2360253.38
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

82 429783.10 2360220.91
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

83 429772.28 2360176.04
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

84 429771.35 2360155.00
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

85 429775.46 2360124.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

86 429782.47 2360122.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

87 429776.33 2360092.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

88 429762.97 2360013.74
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

89 429763.92 2359981.03
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

90 429758.55 2359941.20
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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91 429747.88 2359867.94
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

92 429744.35 2359857.71
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

93 429738.66 2359837.21
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

94 429727.96 2359840.07
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

95 429723.32 2359820.41
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

96 429720.59 2359810.50
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

97 429713.54 2359785.14
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

98 429724.22 2359782.29
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

99 429720.05 2359752.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

100 429713.63 2359742.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

101 429704.65 2359702.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

102 429694.21 2359675.75
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

103 429687.95 2359656.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

104 429687.41 2359648.25
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

105 429688.64 2359638.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

106 429667.65 2359563.97
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

107 429661.99 2359556.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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108 429654.35 2359537.50
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

109 429648.08 2359521.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

110 429635.45 2359485.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

111 429622.53 2359454.60
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

112 429606.05 2359420.45
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

113 429601.10 2359409.45
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

114 429589.37 2359381.55
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

115 429562.09 2359315.27
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

116 429550.90 2359289.49
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

117 429545.20 2359273.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

118 429524.86 2359214.60
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 429528.64 2359213.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: %5FL 747>D4E?D545?5=<O
=<7>>7> 446?5=<O > 6<?O< 4><4< ?> G?<F5 �>?L=<G=4O, E. /7O>>6>,
�<?L=<=E><= D4=>= (152-21-102-003217), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:46:0160005:1156

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3
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1. �5EF>?>?>65=<5 >ED4==>=
7>=O

�<657>D>4E>4O >5?., <.>. �<?L=<=E><=,
E. /7O>>6>

2. �?>M44L >ED4==>= 7>=O, >6.< 3823

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%�-52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 429859.89 2359612.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 429862.09 2359615.52
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 429859.35 2359617.32
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 429857.36 2359620.38
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 429856.47 2359620.79
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 429865.54 2359668.82
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 429873.79 2359721.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8 429879.10 2359737.17
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 429879.59 2359739.52
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 429880.43 2359743.89
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 429882.95 2359743.60 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

12 429883.41 2359747.58
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 429881.24 2359747.83
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 429883.92 2359759.89
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15 429888.27 2359785.84
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

16 429893.80 2359822.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

17 429897.48 2359857.99
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

18 429903.12 2359888.19
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

19 429921.27 2359997.89
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

20 429927.25 2360039.13
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

21 429931.48 2360069.23
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

22 429933.23 2360072.43
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

23 429940.50 2360114.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

24 429947.18 2360152.52
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

25 429953.65 2360193.57
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

26 429960.39 2360252.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

27 429976.78 2360329.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

28 429981.02 2360376.74 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

29 429986.66 2360423.29
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

30 429968.48 2360428.32
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

31 429977.13 2360481.03
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

32 429977.17 2360495.09
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

33 429978.81 2360504.50
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

34 429979.76 2360511.48
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

35 429975.80 2360512.02
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

36 429974.85 2360505.12
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

37 429973.17 2360495.45
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

38 429973.13 2360481.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

39 429963.96 2360425.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

40 429982.28 2360420.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

41 429977.04 2360377.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

42 429972.82 2360330.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

43 429956.43 2360253.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

44 429949.69 2360194.11
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

45 429943.24 2360153.18 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

46 429936.56 2360115.63
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

47 429929.41 2360073.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

48 429927.62 2360070.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

49 429923.29 2360039.69
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

50 429917.31 2359998.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

51 429899.18 2359888.89
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

52 429893.52 2359858.57
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

53 429889.84 2359822.85
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

54 429884.31 2359786.48
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

55 429880.00 2359760.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

56 429877.25 2359748.27
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

57 429877.04 2359748.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

58 429876.83 2359746.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

59 429876.03 2359742.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

60 429851.29 2359745.93
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

61 429850.68 2359741.98
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

62 429875.24 2359738.25 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

63 429869.89 2359722.52
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

64 429861.60 2359669.50
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

65 429852.30 2359620.24
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

66 429851.57 2359618.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

67 429851.96 2359618.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

68 429851.69 2359617.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

69 429855.19 2359616.38
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

70 429856.47 2359614.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 429859.89 2359612.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

______________________


